
Time: 10 Minutes Paper G.Scince 4th (T-3) Total Marks: 10

3rd Month, 3rdWeek, 3rdDay Unit No 4: States of matter and  arrangement
of particles.

Q.No.1 Encircle the correct answer from the following choices. (4×1=4)


(i) Which state of matters cannot be easily pressed? 
(a) Solid  (b) Liquid  (c) Gas  (d) Plasma 

(ii) Liquids have definite: 
(a) shape  (b) volume  (c) structure  (d) all of these 

(iii)Which particles are at greater distance from each other?



(a) Liquid  (b) Gas  (c) Solid  (d) Both a&b a  b 
(iv) The force of attraction among the liquid particles are ________than solid.

 _____________ 
(a) Greater  (b) weaker 
(c) remain constant  (d) none of these 
Q.No.2 Write the short answers. (3 x 2 = 6) 

(i)   What is the arrangement of particles in solids? 

________________________________________________________________

(ii) Why the particles of gas move fast? 

_______________________________________________________________

________________________________________________________________

(iii) What is the arrangement of particles in liquids? 

_______________________________________________________________

________________________________________________________________
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